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General Instructions : Read the following instructions carefully and strictly
follow them :

1.

Question paper comprises of four sections A, B, C and D. There are 35
questions and all are compulsory.

Section-A — question number 1 to 20 are very short answer type questions
carrying one mark each.

Section-B — question number 21 to 28 are short answer type questions carrying
3 marks each. Answer to each question should not exceed 80 words.

Section-C — question number 29 to 34 are long answer type questions carrying
5 marks each. Answer to each question should not exceed 120 words.

Section-D — question number 35 is map-based question carrying 6 marks with
two parts 35(A) from Geography (4 marks) and 35(B) from History (2 marks).

Answers should be brief and to the point. Also the word limit mentioned above
be adhered to as far as possible.

There is no overall choice in the question paper. However internal choice has
been provided in a few questions. Only one choice in such questions is to be
answered.

Attach the map with your answer book.

In addition to these separate instructions are given with each section and
question wherever necessary.
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Section-A

1. Which one of the following option differentiates between a developed and a
developing country ? 1

A. Availability of water B. Availability of resources
C. Availability of advance technology
D. Availability of transport

frefafad § @ o9 @ T fowey fowfad R foweefia 2o § S & 22
() Tt HT TSI (@) T I ST
(1) S=1d WA &1 STersdal (%) 9REE &1 IUcTs

2. Which one of the following is a feature of ‘intensive subsistence agriculture’ ?
A. Farming is done at large scale 1
B. Heavy use of labour is done

C. Less use of labour is done D. Per hectare yield is low
frfafad & @ &M @ fawey ‘Med fefle S’ 7 = fawiva 22

(F) S o TH W w W F (@) g9 w9 SYEm g @
() o9 & FF I T B (7) 9fa FRW I0S FA T T
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3.  Which one of the following states in India has low density of population ? 1

A. Madhya Pradesh B. Gujarat

C. Maharashtra D. Arunachal Pradesh
gra o frefafea o 9 few 9 O SEEN @1 SE %Y 22
(F) AA YA (@) e

() RN (F1) STEUTEA YR

Child Sex Ratio in Age Group 0-6, 2011 (States/Union Territories)

o E
e INDIA ‘
{gijma & Kl
| Ei51] -
A k=
.;"-:nr.l st
el -]
iy |
e, it e b 4 e il | —
Hapitil e L e
aa1 s whi £ I I-u.“ i
; witulas
m J f‘.‘: - Febare-us |
I r 13l
e r 12
R [THR o T S
Eiy sl Miathiy 441 B L an
~ HBE a1l Lo wr
L
¥ hhaingarh .
e gl iy s
30 b
e & 5 LEL)
e Iakais
§ g
GRABHANSER | ;';""“'" Aol BT 07 BENGAL e ‘
L KT ks
'EH 1 |——nu
| anE
'y | Pt
(L Iu .5
Lt v perkiion T Haz | i —— T
L EET] '5 s - g Groug b
" N W
KD AN DEEAY - ! iy P

4. Look at the given map and choose the set of two states having lowest sex ratio
from the given options : 1

A. Punjab and Haryana
B. Jammu and Kashmir and Himachal Pradesh

C. Assam and Arunachal Pradesh
D. Punjab and Uttarakhand
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feu U wEfes AT @R ad e ol 9 s Ry T faeedt W @ wfu-
(F) U9 3R i (@) S 3R wYHAR 3R feura w_w

(1) 3199 3 3UTEe Yol (°) T9E AR ITUEE

Alternative question for visually challenged students in lieu of Q. No. 4

Name one state each with lowest sex-ratio and highest sex-ratio in India. “2+Y=1

UH 4 & WM W haa ghearyq faentda & fau derfeas wom
qRd H HeH %Y fAamua R e S=e fATud ol Th-Us " k1 AW fafeu)

5. In which language was the Newspaper ‘Kesari’ published ? 1
A. English B. Hindi
C. Gujrati D. Marathi
ER o ‘el fefafad § o® few 9o | yemiRE s en?
() St (@) fe=ft
(1) TRt (=) W

6. In the question given below there are two statements marked as Assertion (A)

and Reason (R). Read the statements and choose the correct option : 1

Assertion (A) : The British government introduced a series of reforms such
as Government of India Act, 1935.

Reason (R) : These reforms were introduced by the Britishers to pacify the

Indians and weaken the freedom struggle.

Options :

A. Both (A) and (R) are true and R is the correct explanation of A.

B. Both (A) and (R) are true and R is not the correct explanation of A.
C. (A) is correct but (R) is incorrect.

D. (A) is incorrect but (R) is correct.
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H= feu U yem H# fqee (T) SR R0 (M) & ®Y H fofe ° wed fgu U
gl HUAl B U@ SR W fosheu wA|

AfeReE (T) : fafew WaR 9 9rRd R AfufEd, 1935 99 wE GurRl &1 EeTd
Eal

THROT (AR) : ¥ GUR AUSH g WRAE i IMd i 3R @l ST=_eH i HHR
w6 o faw & fee oo

fawea .

() (T) 3N (R I T ¥ 3 W (VY F & = 2

(@) (V) 3 (M) <H T € 3R oW (V) # T =en T

(1) (T) ®& ¢ 3R (W) el 2l
(*) (T) o & 3R (3N) @& 2

7. Remains of old buildings, artifacts, inscriptions, books and other documents
etc. are available for the study of the modern period in India. What information

do we get from them ? 1
A. Helps in reconstructing the history of Mughal Period.

B. Helps in reconstructing the British rule over India.

C. Enables to interpret the history of medieval India.
D

Examines the development of ancient civilisation in India.

IR § e+ o 31e9PH o fou [ 9ad o TR, welehiadl, e, e
3R 3T TP VMEHT oS o IYas 2l BH I8 N SHEN fherdt =72

(%) T HA o Sfaer™d oh GAHET § HEg i &
(@) wrd W fafewr o o gAMA § 758+ €
() WAFH 9Rd o fae™ & e & § gaH oF €

(%) ¥Rd H YA g9l ok e sl SiE N o
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8. Arrange the following events in chronological order and choose the correct
answer from options given below : 1

A. Second Anglo-Maratha War

B. Third Anglo-Mysore war

C. Battle of Buxar

D. French East India Company got Dissolved

Options :
1. C,D,B, A 2. D,C, B, A
3. A CB,D 4. D,C, B, A

frefafaa seet & wee s %0 § wEfted wt iR e iy T fawed § 9 W&
IW -

A T AA-WIST ] B. & siel-HET g5

C. FFR H I D. %= = zfean wwt o & W

faweu

1. C,D,B,A 2. D,C, B, A

3. A C B, D 4. D,C,B, A

9. Match the treaties given in Column 1 with their results given in Column 2 and
choose the correct answer from given options : 1
Column 1 Column 2

A. Treaty of Paris 1. Tipu Sultan and English set the
prisoners free

B. Treaty of Salbai 2. British occupied Jullundur Doab

C. Treaty of Mangalore 3. Pondicherry was given back
to French

D. Treaty of Lahore 4. British gained peace with Marathas

Options :

1. A-3, B4, C-2, D-1 2. A-4, B-3, C-2, D-1

3. A-2, B-1, C4, D-3 4. A-3, B4, C-1, D-2
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HiAd 1 H G T G il wiam 2 ° ke T S uftomml o 9y wel fuemm
R feu U fomedi W W WE SW gHA—

Sl 1 HicH 2

A fw = =iy 1. 39 godH R AUSH A hfadi i
Had ™A1

B. W@ERE & |y 2. FUSH 7 SERR qeAE W e
HT o

C. HmER =t g 3. uife=dt Wik w amE wX fEEr T

D. <RR &1 Gfy 4. ofUSH 9 WUl o WY g wenfud @i

Taereu

1. A-3, B4, C-2, D-1 2. A-4, B-3, C-2, D-1

3. A2, B-1, C-4, D-3 4. A-3, B-4, C-1, D-2

10. Bar Manik and Tirot Sing led the revolt of which of the following tribes ?
A. Mundas B. Khonds 1

C. Khasis D. Kukis

IR "o 3R TR fag 3 fafafes o @ feg weifa o fagie =1 g fwan
(F) e (@) de

(1) @ (%) eht
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11. Which of the following statements are correct regarding the Indian Independence

Act, 1947 ? Choose the correct option from the options given below : 1
(A) The British rule over India would end with immediate effect.

(B) West Punjab, North-West Frontier Province, Sindh and East Bengal would

go to Pakistan.
(C) The Princely States would join India.

(D) The Act was also known as 1935 Act.

Options :
1. A and B are correct 2. A and C are correct
3. A, B and C are correct 4. C and D are correct

IRAT e fufem 1947 o 9R A freAfafad § @ #F @ we @@ €2 9 R
T faswmedi & ¥ WE fawew e

(A) 9ra W fafesr smom Iop@ 99 9 9HT § ST

(B) ufyem dole, Sw-ufvem d@iw wiq, fou iR gef ama wifeeam & Smd

(C) <& famd 9Ra o wnfher i

(D) sAfufem &1 1935 oAfufm o &9 § ot S S e

fershe

. ASR Budt ?
2. AR Cud ®
3. A B3R Cudl @
4. C ¥R D@ T
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12. Which one of the following was NOT an immediate challenge faced by India

after Independence ? 1
A. Extreme Poverty B. Millions of Refugees

C. Empty Coffers D. Terrorism

frfafad & @ & H G A o 9] 9RG oF §He U kIl gl el of?
(%) TAfu® et (@) ol Ironeff

(M) @l @S (91) 3TdhaTs

13. Which constitutional body among the following recognises Political Parties as

National Party and State Party in India ? 1
A. Parliament B. Supreme Court
C. Planning Commission D. Election Commission

frfeafad & 9 o @ Hawufer o™ 9Ra § UsHiae <ol i TS el SR T
gt o ®9 H w82

(F) W6 (@) gig &
() IS ST (9) TAE AN

14. Which of the following statements are correct regarding the purpose of the

constitution ? Choose the correct option : 1
A. Defines the nature of a country’s political system.

B. Guarantees certain rights to majority only.

C. Lays down rules and provide safeguard against misuse of power.

D. Allows dictatorial or biased decisions.

Options :
(a) A, Band D (b) Only A and B
(c) A, B,Cand D (d) Only A and C
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frafafed § @ #9 ¥ ®oF Wfgum & S29dl o Ta o JiF 72 TEl fasen giu-
A W H qoHIfdE el H1 Wehfd ! qRfd war 2

B. had sgdel @ & e fave sAfuer <

C. fem fruifia #tar @ iR wfm & gewdm & faoi® QRem USH +dl 2

D. dFmmE @ geayel Frofai s ermfa @ 2

foreheq
(a) A, Band D (b) Only A and B
(c) A B, ,Cand D (d) Only A and C
15. Read the text and answer the question that follow : 1

To respect the sentiments of all religions, the government sometimes makes
certain exceptions for a particular community. For example, the wearing and
carrying of kirpan is included in the Sikh religion. So, they are allowed to keep

a kirpan with them as a religious symbol.

The act of government mentioned in the above text is in support of which one

idea given below ?
A. Republican B. Secularism

C. Sovereinity D. Federalism

frefafaa @0 #1 ufer ok = fu w9 &1 s g

Qeft o@f H qEAR ® FHHE HE o fau, WeER w-Fedt R fovm wgsm o fau
FT AR Sl Bl I ok fu, A qeA iR unw w fa@ o § wnfher 2
zafay 3% uififs gl @& ®9 § U9 WY Ul W@H H1 A 2l

SWeH T § aftfa wwr w1 wE frefafes § 9 few foar & uw A @2

(%) Rufserrd (@) yHfaEa

() H9Ya (%) HeErs
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16. Why does the Lok Sabha has more effective control over the Union Executive ?

Choose the correct option : 1

A.
B.
C.

D.

(%)
(@)

()

(%)

Question hour is held in Lok Sabha.
Only Lok Sabha can pass a vote of non-confidence.

Lok Sabha may or may not accept recommendations of Rajya Sabha
regarding money bill.

Lok Sabha speaker can preside over joint meetings of both the houses.
AHHAT T GEF hEAlereT WosAfuss geret femer i 27 wel fasen g
AhaT o YT B T

had AR € Afavard e WRkd R T 2l

AEEE o9 fadeues & gay H Tl &1 fHEiEl o WiRR T Gehdt § Al
T ff w gEd 7

AR A A WA hl GIHd AShl HI STFE HX Whd &

17. Which one of the following statements is INCORRECT regarding the passing
of a money bill in Union Parliament ? 1

A.

B
C.
D

()
(@)
()
(%)

Bill is introduced in either of the house.
Lok Sabha is more powerful regarding money bill.
Bill becomes the laws after the consent of the President of India.

Lok Sabha may or may not accept recommendations of Rajya Sabha
regarding money bill.

g | 9 fados wiiid 89 & Hay ¥ fefafed § 9§ S99 9 UF FoF Tod 872
fadaes fedt ot @7 A dw fEw s @

¥ fodue & HWey o diegw eifuw wifsdwnel B

fadas 9Rd & UUfd H WeHd F A] HEIT 9 S L

9 fa9ae o a9 ° Alhgdl ToIEl i gwIfEn ol @WihR 3726l STElhR &
qFdr 2

VIlI-Social Science (11)



18. For how many months can a non-member of Parliament remain a minister in

the Council of Ministers ? 1
A. six months B. one year
C. 8 months D. 10 months

HOE &1 T8 gU fo Fgea fovan o &8 w5 fohan 999 qoh ACORWE &1 95 ©

T 7?2
(F) 6 WM (@) T
(M) 8 N (%) 10 #EH
19. Which one of the following is highest revenue court in a District ? 1
A. Courts of Commissioner B. Courts of Collector
C. Board of Revenue D. Metropolitan Magistrates

frfafad § s @ oRed frdt e § 9o S=ga9 U9 SIeIed @7

(F) A & A (@) Hed o A
() TS Hed (%) wemifaed ffvee

20. Under which power can a High Court transfer a case to itself if it requires
interpretation of the constitution ? 1
A. Original Jurisdiction B. Appellate Jurisdiction
C. Judicial Review D. Court of Record

Tfau™ =t AR i STEISdl B W STd e Ul fRg wifed o o=wid fee
WA Skl 3O UMY AR Y Gehdl 872

(F) A &AMUHR (@) AUl SAfEHR
(1) ek wHTE () &R A e
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21.

22.

23.

24.

Section-B

Why is there an urgent need to use resources judiciously? Explain any three

reasons. 3

Tl w1 fgawyol STERT FH H qhia YAl F 82 FE I hRU T Hifu)

“In the entire process of development, the focus should be on human

development.” Support the statement with three suitable arguments. 3
“faere w1 g uferen |, WA fokE W oeAm <9 Afeul’’ @9 TRl % WU wUd Wi
gfte wifsg

OR ( 31ar)

“Landforms of a place affect distribution of population.” Support the statement

with suitable arguments.
“frdl TIM W g-sTepfaal SMEEn % faaor & gqfad wdt €17 A dewl % W@y
FUd & e =ifvu)

Highlight one consequence each of the three Anglo-Maratha Wars ? 1x3=3
T ATa-Tel ggui H § Jd oF Uh-Tdh TRUMH i ISFR hitsd|
OR ( 31¥ar)

Highlight one consequence each of the second, third and fourth Anglo-Mysore

war.

TR, W IR A9 ATA-TR GZY F TH-TH UROME HI IR HIfT)

Why are restrictions imposed on our Fundamental Rights ? Analyse any two

reasons. 1%6+1v6=3

gAR Hifersh fue®l W Yfgay s @me U 27 TRl € wRen o favemm sifsu

OR (31ar)
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25.

26.

“Impartial attitude towards all religions has been guaranteed in our constitution
in several places.” Support the statement with three examples. 3

‘TR GfauE o % SRl R |t el o g ey W & MRE € T 2 dH Seren
# WEEA W HUT HI YRS Hifem

Explain any three powers of Supreme Court of India. 3

IRd o Gdied AT & fe<l 9 wifdqal =1 2men sifsg)
Source Based Questions

Read the source given below and answer the questions that follow : 3x1=3

Wildlife is important for its aesthetic values and ecological balance. The beauty
of wild animals boosts tourism and creates jobs for the people. Animals’
behaviour changes at the time of natural calamity like tsunami and earthquake.
If this information can be harnessed for imparting early warning system, then
life of lots of people can be saved. Dead and decaying plants and animals also
produce humus, which is helpful to maintain the fertility of the soil. In various
parts of the world, wild animals are hunted for various purposes like meat,
skin and horns etc. This disturbs the ecological balance of the environment.
Many birds have become extinct and many others are on the verge of extinction.
Our forests are treasure troves of biodiversity. They harbour millions of species.
Our wildlife suffers severely due to deforestation and urbanisation. Many
animals have become extinct because they have lost their natural habitat.
Hence, there is a great need for the conservation of wildlife.

Answer the following MCQs by choosing the most appropriate option :

26.1 Why is there a need to conserve wildlife ?

A. Our wildlife suffers severely due to deforestation and urbanisation.
B. Animals have become extinct.

C. Animals have lost their natural habitat.

D. All of the above
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26.2 Which of the followiong statements are true in light of conservation of wildlife
in India ?
A. Hunting and poaching of animals have been banned.
B. Killing of wildlife is a punishable offence.
C. National Parks have been set-up.

D. Visitors are allowed to use forest product of National Parks.

Options :
1. OnlyD 2. Aand B
3. A, BandC 4. BandC

26.3 Wildlife is essential to :
A. Maintain ecological balance
B. To provide entertainment to the people
C. To protect the forest area

D. To prevent soil erosion

H9 feu U Wi @ 9] SR A= fe@ wwAl o SWR e—

TSa 9 Ficd qgodi iR wiifearfas e & fau Aewequl €1 Sirelt SeRl i g
e Bl Sl <t € SR @ oh Ty TSI e sl 1 GAH 3R qehy SiE Wrehfash
A o THI Rl 1 e’ o5 Sl 1 AR 0 o ki YRFTH <l gomed
YEM W o fou <A fRan ST Gehar ®, ol 9gd GRS ST Sfted o= S Hehdl
21 gd 3R FeA dd U iR WM o Rl U1 wd €, S faed &+ Sekar oM W@
4 weme B 3t o fafv= el W, Sehl SHed &t fafi= wasel S@ ||,
AR G enfs & foy ReR fea s ®1 w8 wafeRwr & wiiftufdes dqed & WemE
H 21w uell faeqw = T € R wE o faqw g % R W €l gER ST
Sto fafeerdr & @A 21 A @l gSiad i IR0 <A €1 o i el R el
o HRU BER s MR &9 @ difgd €1 % SHe fadw € T ® i Sl ST
gipfaes omarE @i fea @1 zEfey, Ssiel o WU Yl g SfeavIehdl @

o 30 faskedl 1 g fefafad g faseda ov &1 IW 3—
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26.1 TSIdl o W& K1 SAEYIRAT F 7?2
(%) o H1 HeE AN IEAR oF HRO AR s TR w9 W difgd €
(@) SR faqwa & T oE
() SFedl 3 AU Wiehfash Merd @ fea @
(9) I |l

262 ARG W SSdl oh WU o HWey § frefafEgd W W s W HUT WEl B
A SFE & R SR edy iR W gfady @ fean wEn R
B. FSial % AR UH SeAE ST g
C. UM S@H wfua feg o @)
D. SWgHl & T SAE & 9 SO &1 ST W FI AN R
faskeq .
. HaaD 2. A@RB
3. A, B3R C 4. B3R C

26.3 TS EYAFR © Hih Te—
(%) uifegfas @qeq @ W@d € (@) o o fou TEReH e wd @
() oF @ HI W wW B (%) & AR H Uhd o

27. Read the source given below and answer the questions that follow : 1x3=3

Before the advent of East India Company, the rural life in India was simple
and self-sufficient. The British brought many changes in the field of land
revenue system, agriculture, trade, industry and administration to guard their
own interest. Therefore, the East India Company devised various methods to
ensure the collection of revenue from Indian territories, annexed and controlled
by them. As the British Empire expanded the amount of revenue also increased.
So much so that land revenue became the biggest source of income for the
company.

Answer the following MCQs by choosing the most appropriate options :
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27.1 Identify the one feature of Mahalwari system from the options given below :
A. Company could not claim on the increased income from revenue collection.
B. System established a direct settlement between government and cultivators.
C. Village committees were responsible for tax collections.

D. Revenue was directly collected from the cultivators.

27.2 Why had the tribals to move to other areas in search of livelihood ?
A. Tribal chiefs lost their power
B. They got better jobs in plantations
C. Forests were declared state property

D. Traders gave them high price for their forest produce

27.3 Which one of the following became the largest plantation industry under the
Britishers in India ?

A. Coffee B. Cinchona
C. Indigo D. Tea

F= fRu MU Sia W @ SR e Ry MU ouwA o s oS-

T gfea Ul % A ¥ UEd, WRd H U Sfed Wt SR smenfel em sfusi
J ot fedl &1 N o fAU -TeEd e, Y, MR, AN SR WeneH W & |
HE T_AE U SHfAE, = Sfedl Sl 7 ARAE & 9 USed H1 9ue gHved &
& fau fafi= 9 SR o, st S <o fefa 9 Se-S fafesr awea #1 famm
g3 o &1 AR ol dgdl M| A fR U shddl oF fa o R Wed 991 9
a9 T

o 30 fashed IR Fefafad agfasedid geal &1 IW a—

27.1 =9 feu wu fowmewi § 9 UEAAR YUl i Uk fovivar Rl UgEnu—
(F) Ut o FIE § dEI g8 oNF W @1 @l kI Tehdl off|
(@) Yumelt 3 R 3R Toramt o o9 U ot gueiar wenfud T
() UMW giEfaal s 9ue o fau SsoerEd) e

(9) TS WY wRaell ¥ agd fedr S e
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27.2 SufCaTfai i STSfifashl &1 qamer H o7 & H F S UST?

(%) SFeIE yq@i A oot wifed @t &

(@) 3% IHU H a8 USTR fien

(M) o H TF Ht Guq =g feer T

(%) =AM 4 3% IR TS K Iod HoA &

27.3 frafafes & @ &F S o oM WRa ® Ged el gARIUU SEAN SH TN
() hih! (@) faTem
(M) e (71) =

28. Read the source given below and answer the questions that follow: 1x3=3

We opted for a federal form of Government where there are various levels of
government. The aim of Federation is to bring unity in diversity by harmonizing
the opposing forces so as to achieve common National goals. To ensure that
the Union and the state governments have a definite jurisdiction of Legislative
powers without any conflict or overlapping of functioning, the makers of our
constitution enumerated and divided all the subjects on which laws should be

made into three lists.

Answer the following MCQs by choosing the most appropriate options :

28.1 Which of the following list will contain laws to keep a check on activities of
WhatsApp, Twitter, Facebook ?

A.  Union List B. State List
C. Concurrent List D. Residuary List

28.2 To which list is the subject Agriculture included ?
A.  Union List B. State List
C. Concurrent List D. Residuary List
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28.3 On which list can the Parliament as well as the state legislature, make laws?

28.1

28.2

28.3

29.

A. Union List B. State List
C. Concurrent List D. Residuary List

F= fRu MU Sia W 1@ SR e Ry MU owwA o s oS-

T WHR & TH T @Wey F1 fawed g 'l WER & fafa= w #1 thewH @
SRy T aepdl o wmise foee fafaud o whar @ ® aifes g T weat
® WK TR 1 Weh| F® gHREd wH o fau fh w9 SR " wer o U e

et o = TR o stfaesTed o faur wifsda &1 u ffvea efuer 8w 7, 'R
gfaus fmfaet & 39 wsft fawar & fm o) faafsa ffan @ ™9 W F A & 9=

gfedl § oA S e
98 U faseu g Fefafed agfased™ woi o I 3

frfafed & 9 forg et ¥ =eEw, o, wags & TdfaiEl | TSR @A & fag
FA B2

(F) == el (@) T H=
(1) HHedt = (%) Fefere =
a1 forg frg f=fafee o=t & afmfaa @2
() |e =T (@) T =
(1) HHedt = (%) refere =
TO% R 19 faurmded S fFa =t o famdsl | #A S @ed @2
() |e =T (@) T =
(1) HHedl = (%) el =l
Section-C

What are Multi-Purpose River Valley Projects ? Write two of its advantages

and two disadvantages. 1+2+2=5

TEIEE T A RSN w §? TR Q@ @ SR | wibE fafey
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30. Differentiate between Cotton and Jute crop on the basis of the following : 5
(A) Soil type
(B) Temperature
(C) Rainfall
(D) Areas in the world
(E) Areas in the India

frfafad & MR W FUE AR 2 1 GG & o9 FR W Hifu-
(A) Tt 1 g&R

(B) dm9HEE

(C) amt

(D) 3fen o fwfa

OR ( 31ar)

Differentiate between Intensive Subsistence agriculture and Extensive
agriculture on the basis of :

(A) Size of the farm
(B) Capital

(C) Labour

(D) Yield

(E) Mechanisation

o [

e frafe f i =aues fy o e ffdafad & eiaR W sfa Hifqu—
(A) ©d & IMHR

(B) i
(C) =™

(D) 3us
(E) Wi
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31.

32.

33.

34.

Explain any five Socio-Religious causes of revolt of 1857. 5

1857 o fogie o fw=l 9= wmfSe-uifdes ROl i ==men sifsu)

Highlight any five steps taken by Indians to participate in Non-Cooperation

Movement. 5
STHEAN IS § 9 oF o U 9RdEl N 39 MU TR W wEHl @ I9ER
EA L

OR (31ar)

Highlight any five steps taken by Indians to participate in Civil Disobedience

Movement.
gfga s1a= Tkl § 9n o o foau 9RdiEl e 39w U fRET 9 wedl i IR
i)

Describe any five features of our constitution. 5
TR dfgum ®1 fR=l e faviw@stt w1 vl wifs)
“As head of the government, the Prime Minister enjoys real power.” In this
context, highlight the role of the Prime Minister. 5
"R o Y@ o ®q W, FHFH ol arEdtaes vt g 21’ 36 Hed § gumest @i
i1 W Ykl Elfeq]

OR (319am)

“As the head of the state, the President of India enjoys nominal power.” In this

context, highlight the role of the President as a part of Executive.
“I9 % UH@ o ®9 W, WRd o Ul i AHAG &1 v g @1 3w owed o
FEfclshl o TH AF o ®9 H TAd H gfHwl W TRRT S[faq
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Section-D

35.(A) Two places A and B have been marked on the given outline political map of
the world. Identify them and write their correct names on the lines drawn near
them. 4

A. A region of high rainfall in Africa
B. A type of forest

On the same political outline map of the world locate and label the following:
C. Mediterranean forest in Europe

D. A region of low rainfall in Asia

fova o feu wu s UsHifGe AFfE § € M A 3R B fed few 7w g1 %
YEEIT SR Seh U @i e Y@ W mel AW fafeu)

(F) oThIR H 3= o o &=

(@) Th YhR Hl ST

fava o fu gu 3 A@fad W f=fafea &1 oifed #er U1 @@l AW faf@u)
() PH H EAGERE 9
(%) ufE § %A owl oen &5

Alternative question for visually challenged students in lieu of Q. No. 35(A)

A. Name any one area of high rainfall in Africa.
B. Name any two animals found in Mediterranean forests.
C. Name any one region of low rainfall in Asia.

D. Name any two trees found in Tropical Evergreen forest.

TH. 35 (T) & WM W ohad gieariya faenfdai o fau defeus wom
(%) oTHHI H =9 oW ol el T &= &1 W fafe

(@) A=A a9 ¥ U 9 H 9 fR=l 2 ugst & AW fafew

(M) when § w9 aul ot R w9 w1 am fafeuw

() I FHfeddy @R o § 9w W 9 feEl @ g % am fafau
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35(B) On the outline map of India, locate and label the following : 2
A. Epicentre of the revolt of 1857

B. Place where congress split into moderates and radicals

IR o e gEfas W F=fafed w1 sAfhd steh @1 T&t W fafgn—

(F) 1857 & fagie =1 g

(@) 98 T SRl U9 EueEl iR st § famfesd e e
Alternative question for visually challenged students in lieu of Q. No. 35(B)

A. Name the epicenter of the revolt of 1857.

B.  Where did the congress split between moderates and radical members?
ghearfia aienfedfal & fau wE 35(st) o WM W deafedss w9
(F) 1857 o fagie o Sufehg &1 AW fafay

(@) wiE; Ragelt iR weetuell wewl o i el faued gg efi?
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Name Class Roll No.

o
q‘l’q‘ ma’l‘ ooooooooooooooooooooo W ooooooooooooooooooooo

Q. 35 (A) Map U9 W& 35 (W) "EfaA
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Name Class Roll No.

.
q'rq‘ ma’l‘ 40000000000 0000000000 W 400000000000 000000000

Q. 35(B) Map Yy 9E& 35(sr) uetud

INDIA

OUTLINE MAP WITH STATES
& UNION TERRITORIES

000
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